
11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5
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l_

1X
usl_1X:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
l_

12
X

usl_12X:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

12
X

usr_12X:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
l_

co
il1

usl_coil1:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

2583.5

2584

2584.5

2585

2585.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

5142.5

5143

5143.5

5144

5144.5

us
l_

co
il4

usl_coil4:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

3018.8−

3018.6−

3018.4−

3018.2−

3018−

3017.8−

3017.6−

3017.4−

3017.2−

3017−

3016.8−

3016.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

2457.6

2457.8

2458

2458.2

2458.4

2458.6

2458.8

2459

2459.2

2459.4

2459.6

2459.8

us
l_

co
il7

usl_coil7:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

us
r_

co
il1

usr_coil1:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1910−

1909.5−

1909−

1908.5−

1908−

us
r_

co
il3

usr_coil3:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

6524

6524.5

6525

6525.5

6526

us
r_

co
il4

usr_coil4:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

2933.5−

2933−

2932.5−

2932−

2931.5−us
r_

co
il6

usr_coil6:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

34893

34893.5

34894

34894.5

34895

us
r_

co
il7

usr_coil7:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

12

12.5

13

13.5

14

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

255.5

256

256.5

257

257.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

24−

23.5−

23−

22.5−

22−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

262

262.5

263

263.5

264

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

294.5

295

295.5

296

296.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

109−

108.5−

108−

107.5−

107−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

42.5−

42−

41.5−

41−

40.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

275

275.5

276

276.5

277

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

138.4−

138.2−

138−

137.8−

137.6−

137.4−

137.2−

137−

136.8−

136.6−

136.4−

136.2−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

36−

35.5−

35−

34.5−

34−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8301}



11095 11095.5 11096 11096.5 11097
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi
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12X_coil1:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

91.4−

91.2−

91−

90.8−

90.6−

90.4−

90.2−

90−

89.8−

89.6−

89.4−

89.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

16.8−

16.6−

16.4−

16.2−

16−

15.8−

15.6−

15.4−

15.2−

15−

14.8−

14.6−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

527.4−

527.2−

527−

526.8−

526.6−

526.4−

526.2−

526−

525.8−

525.6−

525.4−

525.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8301}

11095 11095.5 11096 11096.5 11097
cyclenum

8299

8299.5

8300

8300.5

8301

8301.5

8302

8302.5

8303

ru
n

run:cyclenum {run == 8301}
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